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Section	C	
Answer any	four	questions.	

Write your answer in the answerbook containing Sections A and B. 

 

10.  (a)  (i)  Why is it necessary for an organism to possess an adaptation to its habitat?      
    (ii)  Name two types of adaptation that an organism can exhibit.   (9) 

  
(b)  Gunnera (Gunnera tinctoria), known as giant rhubarb is 

a ornamental plant native to Chile. It has umbrella‐like 
leaf blades up to two metres high and great numbers of 
tiny flowers. 

   This huge plant has been recorded at 1,168 locations on 
Achill Island and creeps invasively along cliffs, 
streamsides, roadsides and damp meadows, shading 
out native vegetation and building up huge seed banks which crowd out everything 
else.   
Gunnera spreads largely by its creeping surface rhizomes (horizontal stems) and the 
scatter of plant fragments, rather than by birds eating the seeds.  
Eradication schemes by county councils have proved difficult, as fresh leaves sprout 
from rhizomes that have been partially poisoned with glyphosate herbicide and the 
layered seed banks wait their turn to take over.  
Gunnera is one of the few flowering plants to fix its own nitrogen through hosting a 
toxic cyanobacteria in its cells. The plant’s need for water, humidity and frost‐free 
winters has kept it largely to the west coast of Ireland and its hinterland. 
(Adapted from ‘Gunning for Gunnera: ornamental wonder or ecological menace?’, The Irish Times, 15th 

March, 2013.) 
 

   (i)  Give two methods by which Gunnera outcompetes native Irish plants.   
   (ii)  What method is usually used to control the population of Gunnera? 
  (iii)  Suggest one reason why Gunnera is so successful at growing in poor quality soil. 

(iv)  Biological control, using herbivores, might not be successful at controlling the 
population of Gunnera. Suggest one reason why. 

  (v)  Suggest two ways how Gunnera may invade and colonise new areas. 
  (vi)  Name two abiotic factors that have limited the spread of Gunnera in Ireland.  
      (27) 
(c)  (i)  State one reason why ecological surveying is important. 
   (ii)  Organisms’ roles in energy transfer in an ecosystem can be represented using  
     different methods. 

1. Name the ecosystem you studied. 
2. Draw a food chain from this named ecosystem containing four members 

(trophic levels). 
3. Why are food chains mostly limited to four or five members? 
4. Draw a pyramid of numbers to represent this food chain.  
5. Indicate on your pyramid of numbers, the position of 

  1. the producer   and   2. the secondary  consumer.   
6. Give one limitation of the use of pyramids of numbers.  (24) 
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11.  (a)  (i)  Name the type of nutrition exhibited by organisms that carry out photosynthesis.
    (ii)  Write a balanced chemical equation to summarise photosynthesis. 

(9) 
 
(b)  The diagram is that of a transverse section (T.S.) of a leaf growing in a sunny area.  
  
 
 
 
 
 
 
 
 
 
 
 
 
 
  (i)  What is the role of the stomata in photosynthesis? 
  (ii)  Which of the labelled part (A, B or C) would you expect to contain the most 

chloroplasts? 
  (iii)  Chloroplasts contain chlorophyll molecules.  What is the role of the chlorophyll 

molecules in photosynthesis? 
  (iv)  What particles are released from chlorophyll during the light dependent stage of 

photosynthesis. 
  (v)  These particles enter one of two pathways. 
    Give an account of the events of pathway 2. 

(27) 
 
(c)  Answer the following questions in relation to the second stage of aerobic respiration. 
 

(i) Name the 3‐carbon molecule which enters the mitochondrion. 
(ii) Name the two carbon containing molecules produced when the 3‐carbon 

molecule at (i) above is broken down. 
(iii) One of these carbon containing molecules formed at (ii) above enters a series of 
   reactions.  Name this series of reactions. 

  (iv)  Outline the events that take place in the electron transport chain (system). 
(24) 

 
 
 
 
 
 
 
 

A 

Stomata 

B 

C 
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12.  (a)  (i)    What is meant by the term heredity?             
   (ii)  State Mendel’s Law of Independent Assortment (2nd Law). 

 (9) 
 
 
(b)  The series of images below represents the four main stages of the DNA profiling 

technique invented by Sir Alec Jeffreys in 1984. 
 

 
 

 
(i) Distinguish between DNA profiling and genetic screening.     
(ii) Explain each of the Stages, 1 to 4, of DNA profiling shown above. 
(iii)  Give any two applications of DNA profiling.     
(iv)  Identical twins have the same DNA profile. Explain why this is so. 

(27) 
 

 
(c)  In Andalusian chickens the allele for black feathers (B) exhibits incomplete dominance 

over the allele for white feathers (b).  When a black, homozygous rooster (male) is 
crossed with a white, homozygous hen (female) all the newly hatched chicks will have 
an intermediate phenotype of speckled colour (Bb) known as “blue”. 

 

(i) Explain the terms underlined in the passage above. 
 

(ii) Determine all the possible genotypes and phenotypes of the offspring of a 
  cross between the following chickens:   

“blue” rooster  X  “blue” hen 
      Include in your answer the ratio of the resulting phenotypes. 
 

(iii)  What would be the effect on the offspring phenotype ratio, in the genetic cross 
  at (ii) above, if there was no incomplete dominance between the two alleles for 
  feather colour, and if black feather was the dominant trait and white feather was 
  the recessive trait? 

       (24) 
 
 
 
 
 
 

A DNA 
profile 

Sample used to  
create a DNA 
profile 

1 2 3 4
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13.  (a)   (i)  Explain what is meant by the term homeostasis.  
    (ii)  Give one reason why homeostasis is important in organisms. 
    (iii)  Explain what is meant by the term excretion.  
    (9) 
  (b)  Urine produced by the kidney contains water, salts and urea. 
    (i)  State the precise location in the body  

  where urea is made. 
(ii)  Name the food biomolecule from which  
  urea is derived.  
(iii)  A diagram of a human kidney is shown on  
  the right.  

    1.  In which part of the kidney is the 
      Bowman’s capsule located? 
    2.  In which part of the kidney is  
      the Loop of Henle located? 
    3.  Name the part labelled ‘A’. 
 

      (iv)  Draw a large diagram of a nephron and its associated blood supply from a human  
          kidney. Label the following parts: 

   

Bowman’s capsule  Loop of Henle  Proximal convoluted tubule 

Collecting duct  Distal convoluted tubule  Glomerulus 

  (27) 
 
  (c)  The following table shows the representative composition of blood plasma, glomerular 
    filtrate and urine from a typical adult, (each in g/100 cm3 of fluid). 

 

  Blood Plasma  Glomerular filtrate  Urine 

Urea  0.03  0.03  1.8 

Glucose  0.1  0.1  0 

Proteins  7  0  0 

 
    (i)  Using the data from the table above, what is the main difference between the  
      composition of blood plasma and glomerular filtrate? Explain why this is so.  
 
    (ii)  Using the data from the table above, in relation to glucose, explain the findings 
      in the composition of the fluids between: 

 
      1.  Blood plasma and glomerular filtrate. 
      2.  Glomerular filtrate and urine. 

    (iii)  Using your knowledge of homeostasis and excretion: 
    1.  State the effect on the volume of urine produced by a high salt intake. 
    2.  Explain your answer to part 1. 

  (24) 

 

Cortex 

Medulla

Pelvis 

A 
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14.  Answer any two of (a), (b), (c).   (30, 30) 

    

  (a)  The diagram below summarises some of the changes that take place in a typical human  
    female during the menstrual cycle. Answer the questions that follow, based on this  
    diagram. 
   

 

 

 

 

 

 

 

 
 
    (i)  What is the role of the menstrual cycle? 
    (ii)  Name the event that occurs between days 1‐5 of the cycle. 
    (iii)  The event you have named at (ii) is triggered by a large drop in a certain  
      hormone. Name the hormone. 
    (iv)  Where is the hormone oestrogen produced? 
    (v)  Using the time axis from the graph above, sketch a graph in your answer book, to  
      indicate the changes in oestrogen levels during the cycle. 
    (vi)  Name the event that occurs at day 14 and name the hormone which causes this  
      to happen.  
    (vii)  Name the structure that the Graafian follicle develops into after day 14. 
    (viii)  Does the graph indicate that the woman became pregnant during this menstrual  
      cycle? Explain your answer.  
 

  (b)  Answer the following questions from your knowledge of sexual reproduction in 
flowering plants. 

   (i)  Describe in detail: 
     1.  The development of the pollen grain from a microspore mother cell. 
     2.  The events that happen to a mature pollen grain following pollination up to 
       double fertilisation. 
 
  (ii)  Give two adaptations of wind‐pollinated flowers that increase their chance of 

successful pollination. 

    (iii)  State two advantages of sexual reproduction versus asexual reproduction in 
plants. 
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  (c)  Multi‐antibiotic (drug) resistant Clostridium difficile (C.diff) is a species of bacteria,  
    which can form endospores in response to adverse environmental conditions. 

 

(i)  Draw a large labelled diagram of a typical bacterial cell.  

(ii)  Name the method of asexual reproduction exhibited by bacteria.  

(iii)  Describe the process of this asexual reproduction in bacteria. 

(iv)  The diagram below is that of a typical growth curve for microorganisms; 

1.  Name each of the stages of the growth curve labelled A, B and C. 

2.  What is a suitable label for axis Y? 

 

 

 

 

 

 

      

   

 

 

    (v)  Copy the growth curve in your answer book and indicate on your diagram  
      when endospore formation is most likely to occur.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Time (hours) 

Y 

A 

C

B 



Leaving Certificate Examination 2020 
Biology – Higher Level  
Section C  

  8   

15.  Answer any two of (a), (b), (c).                   (30, 30)  

  

(a) Plants produce chemicals called growth regulators such as auxin to regulate tropisms.  
 
(i) What is a tropism? 

(ii) Where precisely in plants are auxins produced? 

(iii) What is the precise benefit to the plant that the shoot is positively phototropic? 

(iv) Give two uses in agriculture or horticulture of plant growth regulators. 

(v) The graph below shows the result of a student’s investigation on the effect of 
different concentrations of IAA on the growth of plant roots and shoots.  

Compare the effects the different concentrations of IAA have on the growth of 
the roots and the shoots. 

 
 
 
 
 
 
 
 

 
 

 

 

 

 

 

 

(vi) State two reasons why the action of an auxin is considered to be similar to  
the action of a hormone in the human body. 

 

 

 

 

 

 

 

 

(–) 

(+) 
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  (b)  Human papilloma virus (HPV) is a virus that can infect cells and cause some cancers in  

    males and females.  A vaccine has been produced to prevent infection by the human  

    papilloma virus and is now available to all first year students attending Irish second‐ 

    level schools.  The vaccine contains particles from the coat of the virus only, in a saline  

    solution, and stimulates induced immunity in humans.    

 
    (i)  From which biochemical component are viral coats made? 

    (ii)  Name the other main chemical component of a virus.  

(iii) Why can viruses be described as obligate parasites? 

(iv) Describe how virus particles can infect and replicate in host cells.   

    (v)  Immunity is the ability to resist infection. Name the two types of induced 

immunity. 

    (vi)  Which of these types of immunity that you have named at (v), occurs after a 

   vaccination with the HPV vaccine?  

(vii)  Give one difference between the types of induced immunity that you have 

   named at (v). 

 
 
  (c)  Answer the following questions about a plant root.   

    (i)  Draw a diagram of the longitudal section (L.S.) of a typical root. 

    (ii)  Label any three zones on your diagram.  

    (iii)  In which zone is water absorbed from the soil? 

    (iv)  Name the process through which water is absorbed from the soil.  

    (v)  Name the tissue that transports water in roots. 

    (vi)  Give two ways in which this tissue is adapted to transporting water.  

    (vii)  Two Irish scientists, Dixon and Joly, first proposed the theory of water movement 

      in plants.  Using this theory, describe the mechanism by which water moves 

      through this tissue to the leaves in a plant. 

 
 
 
 
   



Leaving Certificate Examination 2020 
Biology – Higher Level  
Section C  

  10   

 

 

Do not write on this page 

 



Leaving Certificate Examination 2020 
Biology – Higher Level  
Section C  

  11   

 
 
 

Do not write on this page 

 



Leaving Certificate Examination 2020   
Biology – Higher Level 

Section C 

 

 
 
Leaving Certificate – Higher Level 

BIOLOGY 
 
 
 

 

 
 

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
Copyright	notice	
This examination paper may contain text or images for which the State Examinations Commission is not the copyright 
owner, and which may have been adapted, for the purposes of assessment, without the authors’ prior consent.  This 
examination paper has been prepared in accordance with Section 53(5) of the Copyright and Related Rights Act, 2000.  
Any subsequent use for a purpose other than the intended purpose is not authorised.  The Commission does not accept 
liability for any infringement of third‐party rights arising from unauthorised distribution or use of this  examination paper. 

Do not hand this question paper up 
 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /Bahnschrift
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /Calibri-Light
    /Calibri-LightItalic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Candara-Light
    /Candara-LightItalic
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /ComicSansMS
    /ComicSansMS-Bold
    /ComicSansMS-BoldItalic
    /ComicSansMS-Italic
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CorbelLight
    /CorbelLight-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /Dubai-Bold
    /Dubai-Light
    /Dubai-Medium
    /Dubai-Regular
    /Ebrima
    /Ebrima-Bold
    /FranklinGothic-Medium
    /FranklinGothic-MediumItalic
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Gabriola
    /Gadugi
    /Gadugi-Bold
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /HoloLensMDL2Assets
    /Impact
    /InkFree
    /JavaneseText
    /JuiceITC-Regular
    /KristenITC-Regular
    /Leelawadee
    /LeelawadeeBold
    /Leelawadee-Bold
    /LeelawadeeUI
    /LeelawadeeUI-Bold
    /LeelawadeeUI-Semilight
    /LucidaConsole
    /LucidaHandwriting-Italic
    /LucidaSansUnicode
    /MalgunGothic
    /MalgunGothicBold
    /MalgunGothic-Semilight
    /Marlett
    /MicrosoftHimalaya
    /MicrosoftJhengHeiBold
    /MicrosoftJhengHeiLight
    /MicrosoftJhengHeiRegular
    /MicrosoftJhengHeiUIBold
    /MicrosoftJhengHeiUILight
    /MicrosoftJhengHeiUIRegular
    /MicrosoftNewTaiLue
    /MicrosoftNewTaiLue-Bold
    /MicrosoftPhagsPa
    /MicrosoftPhagsPa-Bold
    /MicrosoftSansSerif
    /MicrosoftTaiLe
    /MicrosoftTaiLe-Bold
    /MicrosoftUighur
    /MicrosoftUighur-Bold
    /MicrosoftYaHei
    /MicrosoftYaHei-Bold
    /MicrosoftYaHeiLight
    /MicrosoftYaHeiUI
    /MicrosoftYaHeiUI-Bold
    /MicrosoftYaHeiUILight
    /Microsoft-Yi-Baiti
    /MingLiU-ExtB
    /Ming-Lt-HKSCS-ExtB
    /Mistral
    /MongolianBaiti
    /MonotypeCorsiva
    /MS-Gothic
    /MSOutlook
    /MS-PGothic
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MS-UIGothic
    /MT-Extra
    /MVBoli
    /MyanmarText
    /MyanmarText-Bold
    /NirmalaUI
    /NirmalaUI-Bold
    /NirmalaUI-Semilight
    /NSimSun
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /PMingLiU-ExtB
    /Pristina-Regular
    /SegoeMDL2Assets
    /SegoePrint
    /SegoePrint-Bold
    /SegoeScript
    /SegoeScript-Bold
    /SegoeUI
    /SegoeUIBlack
    /SegoeUIBlack-Italic
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUIEmoji
    /SegoeUIHistoric
    /SegoeUI-Italic
    /SegoeUI-Light
    /SegoeUI-LightItalic
    /SegoeUI-Semibold
    /SegoeUI-SemiboldItalic
    /SegoeUI-Semilight
    /SegoeUI-SemilightItalic
    /SegoeUISymbol
    /SimSun
    /SimSun-ExtB
    /SitkaBanner
    /SitkaBanner-Bold
    /SitkaBanner-BoldItalic
    /SitkaBanner-Italic
    /SitkaDisplay
    /SitkaDisplay-Bold
    /SitkaDisplay-BoldItalic
    /SitkaDisplay-Italic
    /SitkaHeading
    /SitkaHeading-Bold
    /SitkaHeading-BoldItalic
    /SitkaHeading-Italic
    /SitkaSmall
    /SitkaSmall-Bold
    /SitkaSmall-BoldItalic
    /SitkaSmall-Italic
    /SitkaSubheading
    /SitkaSubheading-Bold
    /SitkaSubheading-BoldItalic
    /SitkaSubheading-Italic
    /SitkaText
    /SitkaText-Bold
    /SitkaText-BoldItalic
    /SitkaText-Italic
    /SPIonic
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /TempusSansITC
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /YuGothic-Bold
    /YuGothic-Light
    /YuGothic-Medium
    /YuGothic-Regular
    /YuGothicUI-Bold
    /YuGothicUI-Light
    /YuGothicUI-Regular
    /YuGothicUI-Semibold
    /YuGothicUI-Semilight
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 822.047]
>> setpagedevice


